Chemistry Worksheet NAME: Ke N (L
; v A
Isotope Notation Block:

1. Uranium-235 and uranium-238 are considered isotopes of one another. How are uranium-
235 similar, and how are they different?

U-235 and U238 hove fhesame #4 of protons (G[Q)
0-225 hgs 235-92 = 43 neutrens f U-23% has 95%-0U9 - [4bnutrons

2. Define isotope:
atoms wsih the same mumler eg,mm o fut c{{“gﬁg.@ nunders sf,

3. The flumber of protons in an atom is known as the atemic mumber of that
atom.

4. The number of PVD’TWS determines the name of the atom.
5. The mass number of an atom is the number of {DKUTBI/WA plus the

number of LU enNs in the nucleus of the atom.

6. The isotope notation for nitrogen-15 is as follows:

a. The number 15 is the Moy number.

1S

b. The number 7 is the atemic, number. 7 N

c. How many neutrons does nitrogen-15 have? 1 R e 3

7. Write the following in isotope notation:

66 4
S 66 b Z N d.helium-4: 5 _ﬁ ¢ g.silver-108: : 0481 ZAY( 3

o
~

35 A 285 | i
b.chlorine-35: 17 (W e.uranium-235: 4. ) h.thorium-234: “sa 1A

239 404, 16
c.plutonium-239: 44 T WU f. potassium-40: 1q K i. oxygen-16: g | 2
24
j. the atom with 12 protons and 12 neutrons . M C}[ 2
8 i T
k.the atom with 6 protons and 7 neutrons ¢ (J
196
1. the atom with 79 protons and 117 neutrons. 14 }DV A
32
-~
m. the phosphorus atom that has 17 neutrons. 5 b
63 .
n.the copper atom that has 34 neutrons. 29 (
25
o.the iodine atom that has 72 neutrons 53 I

Copyright © 2010 by the Newton South High School Science Department, Newton, MA. Pagel of 2



Koy~

Chemistry Worksheet NAME:
Isotope Notation d Block:
Complete the table. Recall that A = mass number, Z = atomic number, and ions have charge!
Atomor | Atomic | M #of | #of | #of Mg, uos
Name |4Sym*/7| " e g ¥ L metal, or
ion? Number | Number | n° p e v etallz)i 49
: 24 ;
Magwsiun 2y o8 | Am [ 94 I 12| 12 | Metal
‘ 30q:
Jilicen - 30 1481 e }4 BO l 6 \4 \4 Mbtﬁbupidk
SN 108p 4 A . ‘
Ralladiam g;u 5 om | A6 | 108 | £9| 46| A6 Metal,
Y T T = i
lodine - 131 | I Alpns, | N 131 " 1 %2 99 | nonmared,
/ P 55 il el f
Moggne . | S0y |- 4o . 25| 55| 30 | 95 9 | emiind
N /g2- | — i Y s ;
{DLL%C&, 16 lon | g 5‘3 lcl lé [5( mnonmatad
Lt 112 —_ \ . \
Cadmium | 26 Ton | 4L | 1N | 64| 48| 46 | meal
oy €2~ 2% — 3 o
Sortum O | Ton | 28 | 8% | * | ¥ | % | mumdl
= %k 20 ) e _ 2 ety
astanidl G AT Lon 85 2[00 | 125 | 85 | 86 |ymetalied
T Moo 4+ | — g — o
e 998 | Ten | 50 | 10 | @ | 50|46 | mumt
B : %D | T, f .
fouenam | v J—Jﬂf’\‘/ C/]Ar e !454 s = ot
R RS 5 B o
Bamwm 56 Dgi| 2om D6 [ 6 it 8 56 kel
mmiar | 86 | Ton | 24 | 52| 28] 9426 | i
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